Important Information:
Please read these instructions thoroughly before use.
® Please read these instructions thoroughly before use.
VEVOR Failure to follow instructions may result in equipment
TOUGH TOOLS, HALF PRICE Asphalt Rake damage, malfunction, or even injury or death to person-
nel.

A Warning A

» The Rake is designed for cutting submerged, partially
emergent, or emergent aquatic vegetation from under-
water. Any other use is strictly prohibited. Before using
the Rake, please read this manual carefully to under-
stand the proper use of the unit.

» The Rake teeth have sharp edges.

A sAFETY FIRST: A

Keep out of reach of children.

Do not use it with children in the immediate area.
IMPORTANT: We are not responsible for equipment
damage or failure, losses, injury, or death resulting from
failure to follow safety precautions, misuse, or abuse of
equipment.

Assembly Instructions

Step 1

The Rake teeth Assembly: The Rake teeth Assembly:
Align the mounting holes in the middle of the rake teeth
and the head of the connecting rod, insert the M6*40
screw, and then use the nut. Note that you do not need
to tighten the nut at this time.

o — Screw:M6™12
e

NEED HELP? CONTACT US! mr o
Have product questions? Need technical support? , NutMs
Please feel free to contact us: 75
Technical Support and E-Warranty Certificate ; -
www.vevor.com/support i X

This is the original instruction, please read all manual instructions carefully before operating.
VEVOR reserves clear interpretation of our user manual. The appearance of the product shall
be subject to the product you received. Please forgive us that we won't inform you again if
there is any technology or software updates on our product.

01 02

Step 2

Connecting rod Assembly: Align the mounting holes
on both sides of the rake teeth with the mounting holes
on the connecting rod, insert M6*12 screws, and screw
in the nuts. Note that you do not need to tighten the nut
at this time.

Step 3

Connecting rod and Middle Pole Assembly: Align
the mounting hole of the connecting rod and middle
pole, insert M6*40 screws, and screw in the nut.

Step 4
Tighten all screws from step1 to step3

\/

Step 5

Handle Assembly:Press the spring-loaded buttons

on one end of the handle connector and slide it halfway
into one of the handles and rotate it until the buttons
snap into the holes in the handle.

Repeat this process for the other half of the handle.

03



Package Include

No.| Name Picture

Rear Grip

Middle Pole

Fixed rod

Allen Key

Allen Wrench vl

Screw M6*40 = |

Screw M6*12 |

O[N] W[N]~

Nut

Q
BIN|IN[=2 2N 25
<

i

Package Include

Model No. CY-SF13
Weight 1.6 kg
Size 75*36"

Manufacturer: Shanghaimuxinmuyeyouxiangongsi

Address: Shuangchenglu 803nong11hao1602A-1609shi, baoshanqu,

shanghai 200000 CN.

Imported to AUS: SIHAO PTY LTD. 1 ROKEVA STREETEASTWOOD

NSW 2122 Australia
Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Place, Rancho Cucamonga, CA 91730

YH CONSULTING LIMITED. C/O YH Consulting
UK | REP | Limited Office 147, Centurion House, London
Road, Staines-upon-Thames, Surrey, TW18 4AX

E-CrossStu GmbH
EC | REP | Mainzer Landstr.69,
60329 Frankfurt am Main.

04

VEVOR'

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate

www.vevor.com/support

VEVOR'

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support

ASPHALT RAKE
Model:CY-SF13

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only
represents an estimate of savings you might benefit from buying certain tools

with us compared to the major top brands and does not necessarily mean to
cover all categories of tools offered by us.
You are kindly reminded to verify carefully when you are placing an order with
us if you are actually saving half in comparison with the top major brands.



